Example: Electric Field

a. Determine the electric field 0.10m from a pointcharge Q which carries a charge of 0.20uC.
£ - k@ (@ xrﬁq\(D.ZO wo'(")
> R i —_— -
(> -

(.1)?

S
- N N
C -
b. Determine the magnitude and direction of the electric force exerted on a second charge q = 0.

which is placed 0.10m from Q.
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Example: Charged Plates

A particle of mass 1.0 x 10° kg has an excess charge of +1.0uC. The particle is located in a region

between two oppositely charged parallel plates where the electric field is uniform and has a magnitude of
1000 N/C. Determine

a. The magnitude of the force acting on the parfcle

b. Rate of acceleration of the particle

¢. Ifthe distance between the plates is 0.010m and the partcle is initially at rest at a point close to
the positive plate, determine the velocity of the partcle just before it strikes the negative plate.
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Example: Slowing a proton

A proton traveling at 3.0 x 10° m/s enters a region where the electric field has a magnitude of
3.0x 10° N/IC. The electric
field is uniform and retards the proton's motion. Determine

a. the distance the proton will travel before coming to a momentary hait
b. time required for the proton to travel this distance
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Basil: Sl I

A proton traveling at 3.0 x 10° m/s enters a region where the electric field has a magnitude of

3.0x 10° N/C. The electric
field is uniform and retards the proton's motion. Determine

a. the distance the proton will fravel before coming to a momentary halt
b. ime required for the proton to travel this distance
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Examole: Vector Field Additi

E - E £ 1 |- 'QOD% Two pointcharg%,_o = +50pCand Q. =-5.0uC are _
) e r C. located on he y-axisaty = +3.0m and y = -3.0m respecively.
C Determine the magnitude and directon of he elecric field on
.Q‘ the x-axis alx= +4.0m.
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